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Question T: Score : /1

 Which of the following has the highest oxidation | © (Mn )il 2l 35 50 4l il gl
number of Manganese (Mn)?

A-MnO, Mn0,-4
B- K;MnO, K:Mn0-B
C-Mn0 MnO-C
O ¥MinD EMnD-D

A



Question 2: Score : /1

Using the figure below, which is the correct
arrangement of halogens (I, Br,, Cl, F,) as g Pl Ppteeatll s D g e il JESD padidy
oxidizing agents from the strongest to the weakest A S Dt i g Jal gl [y 0Ty o Bryly)

|

From strongest oxidizing agent — weakest oxidiring agent A el ) e e S g ) e

T e
Cheatenregativity 000
I T T T T

e

1%

L

= i # B @ B =

g =Br;=0; ~F; -A
A- By = Ch =B~
B- h—=Br;=Cly—=F
C- Chh—+Fr2 —Bra—+ 1 h ~Bn~F «~Ch<

Fie-Cli—Br: «~ 11 -8

D- Brieh = Ch=F By b Ot = By =D

O Av




Question 3:

Score : /]

Which of the following was pxidized in the
following reaction?

2Na + ZH+ - ZNa+ +H;

A- Na*
B- Na
C- H*
D- H:

Tl el i ]

2ZNa+ 2H* = ZNa* +H:

Na® -A
Na -8
H* =C
H: -D

O Bv




Question 4: Score : /]

Which of the following statements is true ) Je il e faa s 4D el )
concerning the redox reaction shown below? T eld DAYy
2BT (g + Cliagy = 201 (g + BTiiaq) ZBT oy ¥ Clyuq = 20T (o + BTy,
A- Dxidation of the chlorine molecule .ﬁiuqu.ﬂ!u‘:'.l"‘
B- Electrons transfer from bromide ions to chlorine OB B gy Shind e iy AT SIS B

C- Electrons transfer from chlorine to bromide io P i
- B | mannd clid B 5ok 5 ciiy B G2 €

[ Reduction of the bromide ions 3

dpa g S DA Sipia D

A

O Bv
E
D



Question 5: Score : /1

Which of the following is the reducing agent in T A el b d Leal gy s g
the following reaction?
Ca,) + In™* oy — Ca®* oy, + Iy, Cags) + In* (o — Ca?* (uq) + Imyyy
Lc."l h’ ,"-
L]
.-I-l‘:-} I.It{q}_-
c- E.I*ill} n!i'." £
Y]

O Av



